Friday 15th January – Silver Maths Activity. 
First, you will have a number free question and some questions you will need to write worded answers to. Then you will get an 'easy number' version of the problem to solve. Finally, you will get the 'Year 6' version of the problem to solve!

Number free
What do you see? 
What do you notice?
What do you wonder?

Jacob has a length of ribbon.
He cuts it into some pieces. 
Each piece is a different length.
How long is one of the pieces? 

Working out and answer box.






Easy numbers
What are the key words?
What do you need to find out?
What do you know?
Can you break the task into chunks?
What will you do first?


Jacob has 4 metres of ribbon.
He cuts it into three pieces.
The length of the first piece is 1 metre. 
The length of the second piece is 2 metres.
Work out the length of the third piece.

Working out and answer box.








Yr 6 numbers
What do you need to find out?
What do you know?
Can you break the task into chunks?
What will you do first?

Jacob has 4 metres of ribbon.
He cuts it into three pieces.
The length of the first piece is 1.28 metre. 
The length of the second piece is 1.65 metres.
Work out the length of the third piece.
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Working out and answer box.

